EARAZROREIERT — 2 N— XBISY —F 2020511818 (BH) 12@KX#H1H

m DAIE BI3IMA Yo% — ‘ (x] & ‘ [RErE] - | 4 (&) 14000 B
[A&4] 1 7% :3,000,000 @ 23 :1,200,000 @ 33 :750,000 4 3% :450,000 @ .~ 5 7 :300,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
o Y :27. -4, . — SIBEE (KH)
11813 A &) H o4 ;E.JO 1(2_7)5 5-4-3 38.6 1 422)5 gé?zlﬁi
g/ ovveTe B Yr—I N -
S 4 6 | HTHER 1:27.9 7-8-8 |38.7| — 8 457 | NEFETRE ()\HE)
] > IR ARAA e 56.0 ) v | B Sratrs-rrarn
R:FATATv— BTF>TLyazRh HET7— L4
3 . s 3 | HIIE 1:27.9 6-6-6 |38.7| — 3 399 | KHEZEH (K#)
3|5/8|3I7Fv> 54.0 (72%) we) | BTEX
LihgHFT—ILE B:iaviiihT— S LAY TT— L
$,5,5 = . o6 | REMEE 1:27.9 1-1-1 [ 39.5| — 10 | 541 | AREEZ (KH)
4 4| T1>>a1=a-> 56.0 (7€) 7)) |2BET
R:TF14—=TTUS 7 B:ALIH—I RAEW S
3,3 t> 5 | BEX 1:28.2 12-10-9 | 38.6| — 7 478 | HEFEE (KH)
57|11 37> F N 77 w0 (1 3/4) Gy | HEER
R:YIRT 4TS5 B:IT7IV—> ElA=tie
oy S 45 | WiBSEE 1:28.3 8-6-7 |39.1| — 4 486 | MRz (J11iE)
6157 77 hA%y 2 56.0 (7E) (-10) | ERER
R:8— MR BS540 F— Fy P EFXT7—L
iy o4 | HIIBR 1:28.5 1-9-10 |38.9| — 9 512 | KEFI (kH)
70O 56.0 (1 1/4) (0) ALK
L:ovRayz4 B:FH-MFIL H—L— - T8>« T7— LERSE
o5 N o EHE : —5— — WMEFIR (KFH)
g —o 4 6 %3_56 1(72?:? BR555 39.6 2 (4530) A
R:bE—XT—F— B:F¥a1—-bxX2 FARIRER 45
N NPT BEA 128. 11— . - ST (K3)
R RS E ST o7 S 1 (218)8 9-11-11 | 38.0 1 422;5 gﬂgﬂ
L RKUIYRIX B:yavHiuib EVFHAT =L
= 57 5 . 4 6 | FERMES 1:28.9 2-2-4 | 40.2| — 5 438 | SEFARGL (4VviA)
77747 % v b 54.0 (3/4) e | @) Bor®
RI—Y>747—F B:7ypAv—L—> L — Rk — 245
= 4 5 | FHEEE 1:29.1 13-13-13 [38.1| — 12 504 | FHEE (KH)
7)|/'77 56.0 (1 1/4) (-9) ;)(U-Iﬂ;
L/ R vy 7 BibX/FAR FEE i
S . # 5 | AllENY 1:29.3 10-12-12 [38.3| — 13 | 472 | ER2ER (KH#)
v a7 X 56.0 (1 1/4) -5) N
x40 Bily KYaE%2— K4S
S = > 5 | SHER 1:30.4 432 | 4.7 — 6 486 | SEILUBSIE (4viK)
13[7|12| #3777 >~ 77 s ) O | manE
R:F4—TITVS>F BTF4F—%AL J—HrTr—L
S 4 5 | BEEZE = = = = = — | {ERBA (k)
¥k 11| 74— F—1F> 56.0 (Ba5h) (=) |Ftrasue
R:Z23—bAEY BiLAFLAF JSARNL—Z Tt s—
® 1 —F—@EBIERL
13—=7-—
23— — 4,14,3,12,13,8,2,7,6,9,5,11,10
Ja=9= 4,14,12,13,3,(7,8),2,5,11,6,9,10
43—+ — 4,12,13,14,3,8,7,2,11,5,6,9,10
[ N5
B 13 1804 714K 2-13 1,220 e E 2-8 2,610MH JEE 2-8-13 5,800
B B 13 120M4 8-13 260M e B 8-2 4,280H 3EE 13-2-8 29,880
2 460M 2-8 2,580 B & 2-13 3,800
8 1909 B H 13-2 4,970/

ARICOVWTRDTEEERROODE. TR LI,



